G3-Mb-Lesson 1

1. The tally chart below shows a survey of students’ favorite ice cream flavors. Each tally mark represents

1 student.

2. Use the tally chart in Problem 1 to complete the picture graph below,

| can count the tally

marks by fivesand ones
to find the total

number of students.

Chocolate HH- 7
Vanilia HH

Cookie Dough Hit 1/
Mint Chocolate Chip | ////

The chart shows a total of 22z

students.
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7 students. .
. . who picked

- cookie dough.

Chocolate

Vanilla

Cookie Dough

Mint Chocolate
Chip

Each

represents 2 students.

| can use the key to tell me what each symbeol represents. Since each symbol
represents 2 students, | can draw half a symbol to represent 1 student.
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What does each represent?

I can look at the key in the picture graph
to find this information.

represents 2 students,

How many students picked vaniila as their favorite ice cream flavor?

Five students picked vanilfa as their favorite ice cream flovor.

t can look at the picture graph or the tally chart to figure out how
many students picked vanilla. The picture graph shows 2 whale
symbols and a haif symbol, so that’s 5 students.

How many more students chose cookie dough than mint chocolate chip as their favorite ice cream
flavor?

7—4=3 ! canfind the total for

Three more students chose cookie dough than mint chocolgte chip, | €ach flavor and subtract to
find the difference.

How many students does
know. ¥

' represent? Write a number sentence to show how you

IXZ2Z=6

I can multiply 3 X 2 because there are 3 whole
symbols, and each symbol stands for 2 students.
it represents 7 students. Then, | can add 1 more because thereis a half
symbol, which represents 1 student,

6+1="7

How many more did you draw for chocolate than for mint chocolate chip? Write a number

sentence to show how many more students chose chocolate than mint chocolate chip.
-4 =2

! drew 1 more symbol for chocolote than for mint chocolatz chip.

I can subtract to find the difference between the number of students who picked each
flavor. The difference is 2 students. Since each symbaol represents 2 students, that
means | drew 1 more symbol for chocolate than for mint chocolate chip. | could also
find the answer by looking at the chart and recognizing that 3 symbols for chocolate is
1 more than the 2 symbols | drew for mint chocolate chip.
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